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Text

Today, Mum is-at- work. Dad and | are at home. Dad says: ““Let’s prepare lunch
for Mum!™ We go 1o the kitchen. Dad puts three fish on the cooker and | prepare
the salad. Then, I go to the living-room to do my homework. Dad goes to the

| zarage to wash the car. We don’t go 1o see the [ish again. After an hour, Dad
runs to the kitchen and says: “Oh no! The fish are black! We can't eat them
now! Sam, go and buy three chicken sandwiches”, says Dad.

I. Reading Comprehension (6 marks)

1-Tick the right title for the text . (1 mark )
a. Preparing dinner for Mum. O b. Having lunch at the restaurant. O e. Dad is not happy. O
1- Read and complete the table (4 marks)

| Who? | Where? | What is he doing?
1. Inthe kitchen a. He'is cooking fish.
Dad = =
| | 2. In the garage. b, e .
[ O [T :
Son I—-' . == !
| 2. Inthe kitchen T TN

3- The family can’t eat the fish. Why? (1 mark)

I1. Language (8 marks)

1- Circle the right option . (3 marks)
When Peter wakes up (at / on / in ) Sunday moming, He ( looks / looking / look ) out of
the window. It’s cloudy and rainy. Peter ( is / are / am ) not happy because he is not going lo

play outside.
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2- l ill in the blanks with three words from the box. (3 marks)

! eaung / park / rahhltq / farm |

Jobn gnd- his'dad go 1o the -—---s-eeeeee— . | They want to see the animals.
lohn sees oo jumping under the trees, I e .
prass and‘dogs playing with the farmer.
3- Write the opposite of the underlined words. (2 marks)

I'live in a-town in the south # ——--me-eeememeeeeeee of England. My pew # oo

house is big .

11, Wriling.(ﬁ marks)

I-Match the questions to their correct answers. (There is an extra answer!)

( 2 marks)
Questions Answers =
a How E'ff_!n“'ld_q dao you J'I"tH: "_'_‘ SI[E l IiFEq: autumn. | at 4___i
' b. Can vou sing? 2- Sidney is my town, 5 So—
¢. What's your favourite sm;n_'_ | 3- It’s cloudy. S -
o e SR T _'_ :
d. Where do you live? . | 4= Sorry, | _L‘an‘i. ld-k

iS-Nu 1e!
Mo one!

——

2- Answer the following questions to write a shurt-mu; sentences) to
your friend “Alain” to tell him about your evening at the cinema. (4 marks)
Do you go with your family/ friends....7 / - What do vou wear?
What do you think about the Alm? / - What do vou do after the film?
WAl KO

L LTl

r:ﬂ Composs

o Alain smithef@email com + c B
Siubyect AR evening o
- TEBIVLAREECSESEES208Y- «

Dear Alain,
On Saturday evening, | go o the cinema to walch a film.

.......................................................................................................................................................
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Answer key
Eléments de réponses Baréme
I. Reading Comprehension 6 marks
1 C 1 mark
2 b. He is washing his car 1 mark
1. In the living-room 1 mark
a. He is doing his homework 1 mark
b. He is preparing the salad 1 mark
3 2. The food Is black because they do not go to see | 1 mark

the fish again.

Il. Language 8 marks
1 on - looks - is 1%3 = 3 marks
2 farm — rabbits — eating 1x3 = 3 marks
3 north - old 1x2 = 2 marks
lll. Writing 6 marks
1 a+5s 0.5 mark
b+4 0.5 mark
c+l 0.5 mark
d+2 0.5 mark
2 Sentences | Criteria C1:0.25x4=1mark

(=1 Q2 G €2:0.5 x4 = 2 marks

Sentence 1 0.25 0.5 0.25

Sentence 2 | 0.25 0s 0.25 C3:0.25x4=1mark

Sentence 3 0.25 05 0.25

Sentenced | D.25 0.5 0.25

Criterlon 1 (C1) | Adherence to task and content adequacy ( 1 mark)
Criterion 2 (C2) | Lexical appropriacy and grammar accuracy (2 marks)
Criterion 3 (C3) | Mechanical accuracy (punctuation, capitalization and spelling (1 mark)
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Recommendations for the writing task:

= 1) Adherence to task and content adequacy :
> The test takers’ production must be adequate to the instructions.
If not, the test taker will not be allotted the €1 mark
* 2) Lexical appropriacy and grammar accuracy:
» The vocabulary used by the test taker has to be appropriate to the task .
» In case of more than two mistakes per sentence, the test taker will get a
zero for C2.
* 3) Mechanical accuracy (punctuation, capitalization and spelling )
» Every sentence must start with a capital letter and end with a full stop.
# In case of more than two mistakes per sentence, the test taker will get a
zero for C3.
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